3x3 System of Equations
Solution Types:
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. Elimlnatlon *See printout.

Algebraic Solving Methods:
« Substitution



HW

3x3 systems 1,2, 3
word problems 1,4, 18, 19
Cramer's rule 5, 6, 7, 8



Quiz topics

2x2 systems (all methods)

3x3 systems (NOT Cramer's rule)
word problems

2x2 inequalities



I = QX-‘11= 2@

ex: Solve.

2x—47=20 dx+1z=~55

..a% é3x+y—4z=20) 4+ — Xt 2=-20

-4x+2y+3z=-15 /Sz= 75
bx-2y+8z=-9D Z=-5
Ax+llz=-55 =

—3(03"3:10(-5‘)=20 (0 D -5)



Elimination [_l/—5/7> - 1(5)(+ bz= 37\

ex: Solve. I+ 122= 1)
() 3x-2y+4z=35 L
SCaxsy-5:--36)3  “px-122= -7

~ _ XY 122=
LT e
@ + @

3}(-2\, "'qZ: BS. —12X+2 -lSzt-‘ﬂ
£3X*Zy-102="77- |§,(-35y-\- 3223l
~SX -loz=-37 h ﬁx -\2Z :T‘F)-




ex: Solve.

pennies 1 cent
nickels 5 cents
dimes 10 cents
quarters 25 cents



ex: Solve.

-6a+9b-12¢c =21
-2a+3b-4c=17
10a-=15b+20c¢ =-30

d)

no solution



ex: Sandy has nickels, dimes and quarters that amount to $3.75in
change. She has three more quarters than dimes but twice as many

nickels as quarters. How many dimes, nickels and quarters does Sandy
have?

'0501-,]0&4‘.254: 3.725
[ g=23+d = =)

@/\

D529 +.1p(q-3)+254=375

(=18 54375 /
= 10 +.\0t|-.3*-7-'~7q > g
ch:\ T g s 427



ex: My friends and | went to the candy store on the weekend. One
friend bought 4 qumballs, 3 lollipops, and 8 gummy rings, for a total of
$3.25. Another friend bought 10 gumballs, 8 lollipops and 4 gummy
rings, for a total of 5.90. | bought 3 gumballs, 2 lollipops, and 15

gummy rings, for a total of §3.70. How much did each of the candy
items cost?




ex: Evalutate.
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(1s+4+p)— (\o+-;zq+0)

19 — (-4
247




ex: Evalutate.

d)
4 | 2
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(D+o 32 )— é’l‘i *D*D\
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d) X+2y+3z=-5

ex: Solve the system using Cramer's Rule, if possible.
3x+y-3z=

(—3 G¥{2+qg) - @l"’b()*sb)
-3x+4y+7z=-

‘D '523/54\
X 9 1 -3 |

X= = |1 4 79 4

) ) * 3
9 ] =3
/-3 y ‘z/




ex: Solve the system using Cramer's Rule, if possible.

e) X+y+z=1
2x=Sy+z=17 —
2y-4z=-10



